201253250 ~9H30H B RS BER(eEDRR6. ZDMMEEIR) JTA/RAC
EDRRELR eETRR6
HARS I 3% HARS I 3% HARS I 3% HARS I 3% HARS I 3% HAR I 3%
= 4/1-26 4/21-5/8. 7/6-19 4/1-26 4/21-5/8. 7/6-19
5/7-6/30 HEIEQ) 3/11:36 HEIEQ) 8/17-31 21512 Q)|3/25-31 £I5I1EQ)|7/20-8/2 £I5|%EQ)| 8/3-16 |ZI5IRQ 5/7-6/30 HEIEQ) 3/11:36 HEIEQ) 8/17-31 21512 Q)|3/25-31 £I5I1EQ)|7/20-8/2 £|5|%EQ)| 8/3-16 |ZI5IRQ)
1| BRE=EGR5) JTA 36,300 1% 36,300 11%| 38,500 10%| 42,400 1%] 42,400 1%] 42,400 1% 35,500 13%| 35,500 13%| 38,500 10%| 42,400 1%] 42,400 1%] 42,400 1%
2 | KBR=%# G 5) JTA 30,100 12% 30,100 12%| 32,600 10%| 35,900 1%| 35,900 1%| 35,900 1% 29,000 15% 29,000 15%| 32,600 10%| 35,900 1%| 35,900 1%| 35,900 1%
3 | e =4 AH) JTA 23,800 13% 23,800 13%| 26,200 11%| 29,100 2%] 29,100 2%] 29,100 2%] 22,500 18%| 22,500 18%| 26,200 11%| 29,100 2%] 29,100 2%] 29,100 2%
4 | FE=FH1E JTA 50,500 15% 50,500 15%| 53,400 13%| 61,000 1% 61,000 1% 61,000 1% 42,850 28%| 42,850 28%| 53,400 13%| 61,000 1% 61,000 1% 61,000 19ﬁ|
5 | ER=E%H JTA 47,200 15%| 47,200 15%| 50,000 13%| 57,200 1%] 57,200 1%] 57,200 1%] 40,400 27%| 40,400 27%| 50,000 13%| 57,200 1% 57,200 1% 57,200 1%
6 | RE=AXE JTA — — — — | 46,200 13%] 52,800 1% 52,800 1% 52,800 1% — — — —— | 46,200 13%| 52,800 1% 52,800 1% 52,800 wll
7 | RER=F18 JTA 41,500 14%| 41,500 14%| 43,900 13%| 50,100 1%] 50,100 1%] 50,100 1% 35,500 27%| 35,500 27%| 43,900 13%| 50,100 1%] 50,100 1%] 50,100 1%
8 | /=i GIE) JTA 36,200 11% 36,200 11%| 38,400 10%| 42,400 1%] 42,400 1%] 42,400 1% 33,400 18%| 33,400 18%| 38,400 10%| 42,400 1%] 42,400 1%] 42,400 19ﬁ|
9 | AEE=1#FH) JTA 32,650 15% 32,650 15%| 36,400 11%| 40,300 1%] 40,300 1%] 40,300 1% 31,000 20%| 31,000 20%| 36,400 11%| 40,300 1%] 40,300 1%] 40,300 1%
10 | FEL =% H) JTA 30,100 12% 30,100 12%| 31,900 12%| 35,900 1%| 35,900 1%| 35,900 1% 27,750 19% 27,750 19%| 31,900 12%| 35,900 1%| 35,900 1%| 35,900 19ﬁ|
1| AEERH) =Fhi8 JTA 19,000 17% 19,000 17%| 20,500 15%| 23,600 2%] 20,500 15%| 23,600 2%] 17,200 25%| 17,200 25%| 20,500 15%| 23,600 2%] 20,500 15%| 23,600 2%
12 | AEGRH) =284 JTA/RAC| 9,900 43%| 14,500 17% 15,700 16% 9,900 47%| 15,700 16%| 18,100 3% 9,800 44%| 13,200 25%| 15,700 16% 9,800 47%| 15,700 16%| 18,100 3w3|
13 AlEE=Ed RAC 9,900 17% 9,900 17% 10,800 13%| 11,900 4%] 10,800 13%| 11,900 4% 8,650 27%| 8650 27%| 10,800 13%| 11,900 4%] 10,800 13%| 11,900 4%
14 [ P GRE) =AKE  [JTA/RAC| 9,700 18% 9,700 18%| 10,700 13%| 11,800 4%] 10,700 13% 11,800 4% 8,600 27%| 8,600 27%| 10,700 13%| 11,800 4%] 10,700 13%| 11,800 4w3|
15 | FiE=53E JTA/RAC| 9,700 18%| 9,700 18%| 10,700 13% 8,250 33%| 10,700 13%| 11,800 4% 8,600 27%| 8,600 27%| 10,700 13% 8,250 33%| 10,700 13%| 11,800 4%
16 | MERB) =5H RAC 12,400 13% 12,400 13%| 13,900 9%| 14,800 3%| 13,900 9%| 14,800 3% 12,300 13% 12,300 13%| 13,900 9%| 14,800 3%| 13,900 9%| 14,800 3vﬂ|
17 | AT =8EKXSE | RAC 20,700 11%[ 20,700 11%| 22,200 9% 23,900 2%] 22,200 9%| 23,900 2%] 19,950 14%| 19,950 14%| 22,200 9%| 23,900 2%] 22,200 9%| 23,900 2%
18 | B (IRE) = AR RAC 22,100 1% 22,100 11%] 22,600 9%| 15,800 37%| 22,600 9%| 22,600 9% 21,150 15% 21,150 15%| 22,600 9%| 15,800 37%| 22,600 9%| 22,600 gvﬂl
19 | 4T =L KXER RAC 22,100 1% 22,100 11%| 22,600 9% 15,800 37%| 22,600 9%| 22,600 9% 21,150 15% 21,150 15%| 22,600 9%| 15,800 37%| 22,600 9%] 22,600 9%
20 | RE=JXE RAC 7,100 14% 7,100 14% 7,600 8% 7,600 8% 7,600 8% 7,600 8% 7,050 15% 7,050 15% 7,600 8% 7,600 8% 7,600 8% 7,600 svﬂl
21 | EEH=%RMH RAC 7,300 14% 7,300 14%| 7,800 8% 5450 36%| 7,800 8% 7,800 8% 7,250 15% 7,250 15% 7,800 8% 5450 36%| 7,800 8% 7,800 8%
22 | MEAH =51F RAC 26,600 16%] 26,600 16%] 28,400 15%] 32,900 1% 28,400 15%] 32,900 1% 21750 31%] 21,750 31%| 28.400 15%] 32,900 1% 28,400 15%] 32,900 1%
X [ESRRESR, e EVRZR 6 #AKIM]
SR (BE) =FRE. BEa. AXKBE. 5H. EEXE. BAK. tXE. 5BE. FE=24. 5HE.
BMAR=IXR., BEh=%RMEKRIZER
,,,,,,,,,,, AL :4/1-1/5,.9/1-9/30  HAREIN :7/6-8/2, 8/17-8/31  HAREII :3/25-3/31, 8/3-8/16
- FREER CBRICEA
HARAT - 4/1-7/5. 9/1-9/30  HARA W : 7/6-7/19. 8/17-8/31 HARAM : 3/25-3/31. 7/20-8/16
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20124F3F25H ~9A30 A& E s EFEXR@ERIE)  JAL/JTA/JAC/RAC
BEEI5]
[ e i s | BIBIED el mEIED|es-o1sms BZIE|vessmRs BEIE
R 9/1-30f8 &

TE—HE@EH) | JTA GiE— 835 9,400 59% 9,400 59% 16,100 33% 9,700 60%
RE-EBY JTA/RAC RiEE-EH 4,900 59% 4,900 59% 8,200 34% 4,900 60%
FE—5BE |[JTA/RAC|] HRE-—-EIE 4,900 58% 4,900 58% 5,700 54% 4,900 60%
RiE—FR JTA FiE—HR 40,700 31% 40,700 31% 41,200 33% 41,200 33%
FlE—H= JTA AiE—iE(RER) 14,500 37%| 14,500 37% 14,700 39%| 14,700 39%
JAL/JTA| 8 (BE|) —FR 26,200 36%| 26,200 36%| 26,500 38% 26,500 38%

& (FRER) ) it 40,700 36%| 40,700 36%| 41,200 39%| 41,200 39%
GiE Xk JTA AiE—Kk 33,500 31%| 33,500 31% 33,950 33%| 33,950 33%
BiE— KR JTA AiE—iE(IRER) 14,500 37%| 14,500 37% 14,700 39% 14,700 39%
JAL/JTA| 48 (IRER) — KBk 19,000 44%| 19,000 44%| 19,250 47% 19,250 47%

& (AR ER) ) it 33,500 41% 33,500 41%| 33,950 44% 33,950 44%
AlE—&5E JTA BiE—iE(IRER) 14,500 37%| 14,500 37% 14,700 39% 14,700 39%
JTA | H#EREH) — 2 EE| 24150 37%| 24,150 37%| 24,750 39%| 24,750 39%

& (AR ER) ] it 38,650 37%| 38,650 37%| 39,450 39% 39,450 39%
iE—Em JTA AiE—iE(IRER) 14,500 37%| 14,500 37% 14,700 39% 14,700 39%
JTA iR () — 1= 16,100 41% 16,100 41%| 17,250 42% 17,250 42%

& (AR ER) ] &t 30,600 39%| 30,600 39%| 31,950 41%| 31,950 41%
—hiE (BRER) [JTA/R = 4R (R ) ] 95 % , 7% 55 %

o —4E (FEF) |[JTA/RAC| =& — 58 (I EH) 9,800 44%| 11,950 32% 9,800 47% 12,550 33"
EEi JTA EE—%% 38,100 31%| 38,100 31%] 38,700 33%| 38,700 33%
B —XKK JTA/RAC — 4B (IRER) 9,800 44%| 11,000 37% 9,800 47% 11,200 40%
JAL/JTA A’ff‘% (3RER) — KB 21,050 38%| 21,050 38%| 22,300 39%| 22,300 39%

& (A8 ) it 30,850 40%| 32,050 38%| 32,100 42% 33,500 39%
A KB — s (BRE)| JTA/RAC| AKE — i (FRER) 4,900 58% 4,900 58% 5,700 54% 4,900 60%
AKE—RE JTA AXE—HH — — — — 35,800(x) 33%
S ABE — 48 (AREE)| RAC Eﬁimzl — 48 (GRER) 12,900 59%| 12,900 59%| 22,100 34%| 13,300 60%
BERE—EEXE [ JAC RE—&XXE 15,750 32%| 15,750 32%| 16,150 36% 16,150 36%
BERE—@#ZE JAC m.,% [ =) 18,500 31%) 18,500 31% 18,500 36% 18,500 36%
ERE—EFE JAC BERE-EFE 9,200 27% 9,200 27% 9,200 27% 9,200 27%
;ﬁlﬁ,%—éﬂ% JAC BERE—EBAE 10,200 27% 10,200 27% 10,200 27% 10,200 27%
BRE—-E=RE JAC 1:::41..-% ERE 18,250 25% 18,250 25% 18,250 25%| 18,250 25%
m,.,% Mk BE | JAC BERE—HKEE 22,350 24% 22,350 24%| 22,350 24%| 22,350 24%
BERE—5% JAC BERE—5H 23,500 24% 23,500 24%| 23,500 24%| 23,5500 24%
BEXXE—ERE | JAC BEXE—ERE 6,800 28% 6,800 28% 6,800 28% 6,800 28%
BEXE—ZE | JAC BEAE—EZE 9,750 27% 9,750 27% 9,750 27% 9,750 27%
ﬁ;x% SHKBEN JAC | EEXKE—HKEE 12,450 26%| 12,450 26%| 12,450 26% 12,450 26%
=N ﬁB CTARERT O gAC BEXE—5H 8,000 59% 8,000 59% 8,000 59% 8,000 59%
JAC Bi— ik BRER 4,450 56% 4,450 56% 4,450 56% 4,450 56%

[E5:a) it 12,450 58%| 12,450 58% 12,450 58%| 12,450 58%
TEAE—5H JAC TEEXERE-5H 14,600 26%| 14,600 26% 14,600 26% 14,600 26%
TEAKE-—5 JAC |BEXE—HKkEER 9,200 45% 9,200 45% 9,200 45% 9,200 45%
JAC HKBRE—5® 5,400 46% 5,400 46% 5,400 46% 5,400 46%

[k REB] it 14,600 46%| 14,600 46%| 14,600 46%| 14,600 46%
Sk BE— 5k JAC HKEBE -5 7,150 29% 7,150 29% 7,150 29% 7,150 29%
HE —[RIK JAC HE R 9,550 22% 9,550 22% 9,550 22% 9,550 22%

BI5IRD: EEH rj()\E:J_LEJ‘TJ:t
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r #58]1/3 13 6H1B~6H30 JTA/RAC

EEBAE : 2012/3/31 ~

6/1-30
=B B 4 z”AM 447 BM 547"0»% &47”0‘ - 947”E‘ -
T mpem AW T mpem BRH | T mpem BRH | T mpm B | s | TR g WA
AR ML LIES AR EIEIES AR T E AR MELIES AR T E
R (E) = b (%) 4 (BE) % NU070 | BTH 35,800 12% BIA 33,100] 19% 3HAI [31.900] 22% — [ — 1 — — | — | —
NUO078 | &TH 135800 12% BTE 33,100] 19% 3EAT (31,900 22% — | — 1 — — | — [ —
KR (B97) =4 (%) | 7048 (38) %| NU084 | 3H &l | 30,000 12% 3HBI 28,700 16% 3HEBI 28400 17% — [ — 1 — — | — | —
B =4 (3% | EER [ NU051 | 3EAT [23500] 15% 3EAT (223000 19% 3EAT (21,8000 21% — | — 1 — — | — [ —
NU053 | 3E&iT |23,500 15% 3EAT (22300 19% 3EAT (21,800 21% — | — 1 — — | — [ —
NUO057 | 3ET&iT 123,500 15% 3EAT (223000 19% 3EAT (21,8000 21% — | — 1 — — | — [ —
NUO061 | 3ET&T 123,500 15% 3EAT (22300 19% 3EAT (21,800 21% — | — 1 — — | — [ —
NU063 | 3B & 123,500 15% 3EAT (223000 19% 3EAT (21,8000 21% — | — 1 — — | — [ —
NU065 | 3E&iT |23,500 15% 3EAT (223000 19% 3EAT (21,8000 21% — | — 1 — — | — [ —
4 (3% % NU050 | 3E &I | 23,500 15% 3HAI 22300 19% 3HBI 21,800 21% — | — | — — | — | —
NU052 | 3E&iT 123,500 15% 3EAT (223000 19% 3EAT (21,8000 21% — | — ] — — | — [ —
NUO054 | 3ET&iT 123,500 15% 3EAT (223000 19% 3EAT (21,8000 21% — | — 1 — — | — [ —
NUO056 | 3ET&iT 123,500 15% 3EAT (223000 19% 3EAT (21,8000 21% — | — 1 — — | — [ —
NUO060 | 3B & |23,500 15% 3EAM (223000 19% 3EAM (21,8000 21% — | — 1 — — | — [ —
NU062 | 3ET&iT |23,500 15% 3EAT (22300 19% 3EAT (21,800 21% — | — 1 — — | — [ —
FH(PE) =FE [®ExcE@ %[ NU071 | 3HET  47,200] 20% 3E A 38300 35% 3E A 36300 39% — | — ] — — | — [ —
NUO073 | 3E&if 147,200 20% 3E A 38300 35% 3E A 36300 39% — | — ] — — | — [ —
FiEH [ NU070 | 3B AT [47.200] 20% 3E A 38300 35% 3E Al 36300 39% — | — 1 — — | — [ —
NUO078 | 3E&iT [47,200] 20% 3E A 38300 35% 3E A 36300 39% — | — 1 — — | — [ —
R (PE) =57 [RxcEm) %] NU021 | 3HET  44,000] 21% 3E A 38000 32% 3E A 36,000 35% — | — 1 — — | — [ —
=% | NU022 | 3B AT [44,000] 21% 3E A (38000 32% 3E A (36,000 35% — | — ] — — | — [ —
KR (A7) =718 [ Xk (%) %| NU083 | 3E & | 37,000 24% 3EA 35400 27% 3E B (34900 28% — | — ] — — | — [ —
FiE% [ NU084 | 3B AT [37.000] 24% 3E A 35400 27% 3E A (34900 28% — | — 1 — — | — [ —
=48 (ERER) | /A% | NUO31 | 3EET 31,0000 24% 3E A {30,000 26% 3E A (28,1000 31% — | — ] — — | — [ —
4 (3% 2| NU038 | 3E &I | 31,000] 24% 3HBI 30,000 26% 3HEBI 28,100 31% — [ — 1 — — | — | —
SBE () =#AEm | saE x| NU251 | 3BT [32400] 16% 3HEBI 30,800 20% 3ERI 30200 22% —— | — | — — | — | —
NU253 | 3E&i 132,400 16% 3E A {30,800 20% 3E A (30,200 22% — | — ] — — | — [ —
NU255 | 3EI&iT 132,400 16% 3E A {30,800 20% 3E A (30,200 22% — | — 1 — — | — [ —
NU257 | 3ET&iT |32,400 16% 3E A {30,800 20% 3E A [30,200] 22% — | — ] — — | — [ —
4 (3% % NU252 | 3E B | 32,400 16% 3HAI 30,800 20% 3HAI 30,200 22% — [ — 1 — — | — | —
NU254 | 3ET&iT 132,400 16% 3E A {30,800 20% 3E A (30,200 22% — | — ] — — | — [ —
NU256 | 3ET&iT 132,400 16% 3E A {30,800 20% 3E A (30,200 22% — | — | — — | — [ —
NU258 | 3E&iT |32,400 16% 3E A {30,800 20% 3EAM (30,200 22% — | — 1 — — | — [ —
Wi=3$#8 (3% | MWL [ NUO11 | 3BAT [27.000] 21% 3B A {26,000 24% 3B A [24,000] 30% — | — ] — — | — [ —
4 (3% %| NU016 | 3E &I | 27,000] 21% 3HEBI 26,000 24% 3HEBI (24,000 30% — [ — 1 — — | — | —
¥ (%5 =718 #4838 %[ NU601 | SE AT | 18,600] 19% 3EBT [ 17.000] 26% 3EA 16300 29% — | — 1 — — | — [ —
NU603 | 3B & 18,600 19% 3EAT [17.000] 26% 3EA 16300 29% — | — 1 — — | — [ —
NU605 | 3E&fT | 18,600 19% 3EAT [ 17.000] 26% 3EAT 16300 29% — | — 1 — — | — [ —
NU609 | 3E&fT | 18,600 19% 3EBM 17000 26% 3EAM 16300 29% — | — ] — — | — [ —
NU613 | 3E&T | 18,600 19% 3EAM 17000 26% 3EA 16300 29% — | — 1 — — | — [ —
NU615 | 3ET&T | 18,600 19% 3EAM [ 17.000] 26% 3EAM 16300 29% — | — 1 — — | — [ —
NU619 | 3ET&fT 118,600 19% 3EBM 17,000 26% 3EB 16300 29% — | — 1 — — | — [ —
NU621 | 3ET&T | 18,600 19% 3EBM 17000 26% 3EA 16300 29% — | — 1 — — | — [ —
NU625 | 3ET&iT | 18,600 19% 3EAM 17000 26% 3EB 16300 29% — | — 1 — — | — [ —
FiE% [ NU070 | 3BT [ 18,600 19% 3EAM 17000 26% 3EAM 16300 29% — | — 1 — — | — [ —
NU604 | 3ET&T | 18,600 19% 3EAM 17000 26% 3EAM 16300 29% — | — 1 — — | — [ —
NUG606 | 3E&fT 18,600 19% 3EAT [ 17000 26% 3EA 16300 29% — | — 1 — — | — [ —
NU608 | 3B & | 18,600 19% 3EAT [ 17.000] 26% 3EAT 16300 29% — | — 1 — — | — [ —
NU612 | 3ET&T | 18,600 19% 3EBM 17000 26% 3EA 16300 29% — | — 1 — — | — [ —
NU614 | 3ET&T | 18,600 19% 3EAT [ 17000 26% 3EA 16300 29% — | — ] — — | — [ —
NU618 | 3ET&T | 18,600 19% 3EAM 17000 26% 3EAT 16300 29% — | — 1 — — | — [ —
NUO084 | 3ET&T 118,600 19% 3EAM [ 17000 26% 3EAT 16300 29% — | — 1 — — | — [ —
NU622 | 3ET&T | 18,600 19% 3EAT 17000 26% 3EAT 16300 29% — | — 1 — — | — [ —
NUO078 | 3E1&f | 18,600 19% 3EAT 17000 26% 3EAM 16300 29% — | — 1 — — | — [ —
NU626 | 3ET&T | 18,600 19% 3EAT 17000 26% 3EA 163000 29% — | — ] — — | — [ —
NU628 | 3ET&T | 18,600 19% 3EBT 17000 26% 3EAT 16300 29% — | — ] — — | — [ —
4% (F0FE) == 4 E % NU551 | BT | 9,200 | 47% BB | 6200 @ 65% BIA | 5200 70% 3B B [ 4200 | 76% 7E#T 3400  81%
RAC801| BTH | 9,200 47% BIE | 6200  65% BB | 5200 70% 3B AT | 4200 | 76% 7E#T 3400  81%
NU557 | BTH | 9,200 = 47% BIE | 6200  65% BIA | 5200 70% 3B B | 4200 @ 76% 7E#T 3400  81%
NU559 | BTH | 9,200 @ 47% BIE | 6200 @ 65% BIA | 5200 70% 3B B | 4200 @ 76% 7H#T 3400  81%
NU561 | BTH 19,200 @ 47% BIE | 6200 | 65% BIA | 5200 70% 3B B | 4200 | 76% 7H#T 3400  81%
NU563 | BTH | 9,200 = 47% BIE | 6200 @ 65% BIA | 5200 70% 3B B | 4200 | 76% 7H#T 3400  81%
NU567 | BTH | 9,200 = 47% BIE | 6200  65% BIA | 5200 70% 3B B [ 4200 | 76% 7H#T 3400  81%
NU571 | BTH | 9,200 = 47% BIE | 6200 @ 65% BIA | 5200 70% 3B B [ 4200 @ 76% 7H#T 3400  81%
NU573 | BTH | 9,200 | 47% BIE | 6200 65% BIA | 5200 70% 3B B | 4200 | 76% 7H#T 3400  81%
EHH [ NUS52 | BITH | 9.200 | 47% BIH | 6200  65% BIH | 5200  70% 3HHI | 4,200 | 76% 7HBI | 3400 | 81%
NU556 | BTH | 9,200 @ 47% BIE | 6200 @ 65% BIA | 5200 70% 3B B [ 4200 | 76% 7H#T 3400  81%
NU558 | BTH | 9,200 @ 47% BIE | 6200  65% BIA | 5200 70% 3B B [ 4200 | 76% 7E#T 3400  81%
NU560 | BTH | 9,200 = 47% BIE | 6200 | 65% BIA | 5200 70% 3B B [ 4200 @ 76% 7HE#T 3400  81%
NU562 | BTH | 9.200 | 47% BIE | 6200 | 65% BIA 5200 70% 3B B | 4200 | 76% 7H#T 3400  81%
NU564 | BTH 19,200 @ 47% BTE | 6200 | 65% BIA 5200 70% 3B B | 4200 | 76% 7H#T 3400  81%
NU568 | BTH | 9,200 @ 47% BTE | 6200 @ 65% BIA | 5200 70% 3B B [ 4200 | 76% 7H#T 3400  81%
NU572 | BTH | 9,200 | 47% BIE | 6200 @ 65% BIA | 5200 70% 3B A [ 4200 | 76% 7E#T 3400  81%
RAC804| BTH | 9,200  47% BIE | 6200 | 65% BIA | 5200 70% 3B B [ 4200 | 76% 7E#T 3400  81%
BEH=HE | E&% [RACS31| BIA 9600 19% BIA | 9,500 | 20% BIE 9400 | 21% — | — | — — | — | —
RAC833| BTH 19,600  19% BIA | 9,500 | 20% BIE 9400 21% — | — | — — | — [ —
RAC837| BTH 9,600  19% BIA | 9,500 | 20% BIE 9400 21% — | — 1 — — | — [ —
FiE% [RAC832| BTH | 9,600 | 19% BIA | 9,500 | 20% BIE | 9400 21% — | — ] — — | — [ —
RAC834| BTH | 9,600  19% BIA | 9,500 | 20% BIE 9400 | 21% — | — 1 — — | — [ —
RAC838| BTH 9,600 | 19% BIA | 9,500 | 20% BIE 9400 21% — | — 1 — — | — [ —
8 (RE) = AkB[+8 @B %[ RAC8T1| BIH | 9,000 | 24% BIE | 83800 25% BIE | 8600 27% — | — 1 — — | — [ —
RAC873| BTH | 9,000 | 24% BIE | 83800  25% BIE | 8600  27% — | — 1 — — | — [ —
RAC875| BITH | 9,000 | 24% BIE | 83800  25% BIE | 8600 27% — | — 1 — — | — [ —
RAC877| BTH | 9,000 | 24% BIE | 8800 25% BIE | 8600 27% — | — 1 — — | — [ —
RAC879| BITH | 9,000 | 24% BIE | 83800 25% BB | 8600 27% — | — 1 — — | — [ —
RAC881| BTH 9,000  24% BB | 83800  25% BB | 8600 27% — | — 1 — — | — [ —
AKX EF|RAC872| BTH 9,000 | 24% BB | 83800  25% BB | 8600 27% — | — 1 — — | — [ —
RAC874| BTH | 9,000 | 24% BB | 83800  25% BB | 8600 27% — | — 1 — — | — [ —
RAC876| BITH | 9,000 | 24% BB | 83800  25% BIE | 8600 27% — | — ] — — | — [ —
RAC878| BTH | 9,000 | 24% BB | 83800 25% BB | 8600 27% — | — 1 — — | — [ —
RAC870| BTH 9,000 = 24% BB | 83800  25% BB | 8600 27% — | — 1 — — | — [ —
RAC882| BTH | 9,000 | 24% BB | 83800  25% BB | 8600  27% — | — 1 — — | — [ —
RiE=53E | HiEH [RAC807| BIHE 9,000 | 24% okeemn| AIH | 8,800 | 25% |xkeman| HIE | 8,600 | 27% xAzmam| —— | —— | —— — | — | —
S IBE | RAC806| RIH | 9,000 | 24% xkemss| BIE | 8,800 | 25% xxeems| RHIE | 8,600 | 27% |xk#ma@m| —— | —— | —— —_ | == | -
48 (IRER) = 5 A0E 948 (BB %| RAC889| RITH 126,100 18% |«xem@u| BIE 125100] 21% |xkze@m| BIEA [24100] 24% |xokeoEm| -—— —_ | — p— [N B
5 IRESH|RACS80| BTH 26,100 18% kzmam| BIH 25100 21% *xeosn]| BIH 24,100 24% |xkse@m| —— [ —— | ——— R B i —




r 21511/313 6HA1H~30 JAC
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B e 2 p— M az | 7P a2z M sz | 7P a=z Mew oy
BAg FRT ) omEix " BAg FRT mEix . BAg FHT mEix "
KB (R =185 [ KBk (574 | UN2321 | &ilH 8,900 28% BiE 8,400 32% BIE 7,900 36%
JUN2323| HiH 8,900 28% BiH 8,400 32% BiH 7,900 36%
EE% [UN2322| BFIH 8,900 28% BIE 8,400 32% BIE 7,900 36%
JUN2324 | HiIH 8,900 28% BiH 8,400 32% BiH 7,900 36%
KR (FFH) =HE (KB FF) F| UN2341 [ 3HHAT | 15,000 22% 3HEI | 14,500 24% 3HAI | 14,000 27%
HEX [UN2342] 3HFT | 15000 | 22% 3HBI | 14500 | 24% 3HBI | 14000 | 27%
JUN2346 | 3HAT | 15000 | 22% 3HBI | 14,500 | 24% 3HBI | 14,000 | 27%
JN2350 | 3HET | 15000 | 22% 3HBI | 14500 | 24% 3HBI | 14000 | 27%
KR (R F) =R E KM ((FFF) [ UN2401 | BifH | 20,400 | 24% BiEH | 18400 | 31% BiH | 17,000 | 37%
JUN2403| ®IH | 20,800 | 22% BIE | 19500 | 27% BIE | 17,000 | 37%
JUN2407 | RIH | 21,100 | 21% BIE | 19.800 | 26% BIE | 17000 | 37%
JUN2409 | ®IH | 21,100 | 21% BIE | 19,800 | 26% BIE | 17,000 | 37%
JUN2411| AIH | 22,000 | 18% BIE | 20400 | 24% BIE | 18,100 | 32%
JUN2415| ®IH | 22,000 | 18% BIE | 20,400 | 24% BIE | 18,100 | 32%
JUN2419| RTH | 20400 | 24% BIE | 18400 | 31% BIE | 17000 | 37%
EERER [JUN2400| BIE | 20,000 | 25% BIE | 18400 | 31% BIE | 17,000 | 37%
JUN2402 | HTH | 20,000 | 25% BIE | 18400 | 31% BIE | 17000 | 37%
JUN2404 | ®IH | 22,000 | 18% BIE | 20,400 | 24% BIE | 18,100 | 32%
JUN2406 | RIH | 22,000 | 18% BIE | 20400 | 24% BIE | 18,100 | 32%
JUN2410| ®IH | 22,000 | 18% BIE | 20,400 | 24% BIE | 17,000 | 37%
JUN2412| RIH | 21,600 | 19% BIE | 18400 | 31% BIE | 17,000 | 37%
JUN2414| ®IH | 21,600 | 19% BIE | 18400 | 31% BIE | 17,000 | 37%
&R ="F & fEfA% | UN3621| BIH | 15300 | 22% BIEH | 14300 | 27% BIH | 13300 | 32%
JUN3623| mIH | 15300 | 22% BIE | 14300 | 27% BIE | 13300 | 32%
JN3625| mIH | 15600 | 21% BIE | 14600 | 26% BIH | 13600 | 31%
JUN3627 | miH | 15300 | 22% BIE | 14300 | 27% BIE | 13300 | 32%
JN3631| #TH | 15,300 22% BIH | 14,300 27% BIH | 13,300 32%
JUN3633| miH | 15300 | 22% BIE | 14300 | 27% BIE | 13300 | 32%
JN3635 | #TH | 15,300 22% BIH | 14,300 27% BIH | 13,300 32%
JUN3637 | miH | 15300 | 22% BIE | 14300 | 27% BIE | 13300 | 32%
JN3639 | HTH | 15,300 22% BIH | 14,300 27% BIH | 13,300 32%
EiEF¥ [ UN3620| m1H | 15300 | 22% BIE | 14300 | 27% BIE | 13300 | 32%
JN3622 | HTH | 15,300 22% BIH | 14,300 27% BIH | 13,300 32%
JUN3624 | mIH | 15300 | 22% BIE | 14300 | 27% BIE | 13300 | 32%
JN3626 | #TH | 15,300 22% BIH | 14,300 27% BIH | 13,300 32%
JUN3628 | mIH | 15300 | 22% BIE | 14300 | 27% BIE | 13300 | 32%
JN3632 | #TH | 15,300 22% BIH | 14,300 27% BIH | 13,300 32%
JUN3634 | miH | 15600 | 21% BIE | 14600 | 26% BIE | 13600 | 31%
JN3636 | #TH | 15,300 22% BIH | 14,300 27% BIH | 13,300 32%
JUN3638 | miIH | 15300 | 22% BIE | 14300 | 27% BIE | 13300 | 32%
ER=ERS e | JUN3643| BTH | 15,700 16% BIE [ 15500 17% BIE [ 15300 18%
JUN3653 | miH | 15700 | 16% BIE | 15500 | 17% BIE | 15300 | 18%
JUN3659 | AIH | 15700 | 16% BIE | 15500 | 17% BIE | 15300 | 18%
BEREH [JUN3640| BIH | 15700 | 16% BIE | 15500 | 17% BIE | 15300 | 18%
JUN3648 | RIH | 15700 | 16% BIE | 15500 | 17% BIE | 15300 | 18%
JUN3658 | miIH | 15700 | 16% BIE | 15500 | 17% BIE | 15300 | 18%
BRE=EFE EREH |JUN3761| BIH 7,500 40% BB 7,000 44% BB 6,500 48%
JUN3769 | mIH | 10500 | 17% BIE | 10,000 | 21% BiE 9,500 25%
JUN3775| ®IH | 10500 | 17% BIE | 10000 | 21% BIE 9,500 25%
EFEH [UN3760| miH | 10500 | 17% BIE | 10,000 | 21% BIE 9,500 25%
JUN3762 | RIH | 10500 | 17% BIE | 10000 | 21% BIE 9,500 25%
JUN3768 | ®IH | 10500 | 17% BIE | 10,000 | 21% BiE 9,500 25%
JUN3774| RIH | 10500 | 17% BIE | 10000 | 21% BIE 9,500 25%
BERE=EBAE | BREBH |JIN3741| B | 12,000 14% BIH | 11,500 17% BIH | 11,000 | 21%
JUN3759 | AIH | 11,000 | 21% BIE | 10500 | 24% BIE | 10000 | 28%
BRE=EFXXE| BEBE® [JUN3721| AIH | 18,000 | 22% BIH | 17,700 | 23% 3HHFT | 15000 | 35%
JUN3723| RIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15000 | 35%
JUN3725| ®iH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15500 | 33%
JUN3727 | RIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15500 | 33%
JUN3729 | ®IH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15500 | 33%
JUN3733| HIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15000 | 35%
JUN3735| ®iIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15000 | 35%
JN3737| RIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15000 | 35%
EEKEH [UN3722| RIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15000 | 35%
JUN3724 | RIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15000 | 35%
JUN3726 | miH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15000 | 35%
JUN3728 | HIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15000 | 35%
JUN3730| mIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15000 | 35%
JUN3734| RIH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15500 | 33%
JUN3736 | miH | 18,000 | 22% BIE | 17,700 | 23% 3HBI | 15500 | 33%
JUN3738 | ETH | 18000 | 22% BIE | 17700 | 23% 3HB | 15500 | 33%




I 3 6 1 ~7 JTA/RAC
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e B2 IR Tanm BEW e, B apm BEE e
BEAMIR | T 5% " BAMIR TNF ) mE% "
BERCHA) =548 (F) | 4B GF H | NU070 | 28HEI | 15700 |  62% 45H@T | 14,900 63%
NU078 | 28HAI | 17,300 | 58% | +:15,700, H:20,300 45H@1 | 16,500 60% |+:14,900, H:19,500
NG #8(FB%R) | B (IRE) S | NU0s4 | 28HFT | 17,000 50% | H:18,000 45HR1 | 14,300 58% | H:15,300
2 =14 (%) FEES NUO51 | 28HBI | 16,000 | 42% | H:15,000 45H@T | 15,300 44% | H:14,300
NU053 | 28H B[ | 15,000 45% % 1:16,000 4A5HBT | 14,300 48% | £+:15.300
NU057 | 28H&[ | 11,000 60% 45HBT | 10,000 64%
NUO61 | 28H B[ | 11,000 60% 45HBT | 10,000 64%
NU063 | 28HAI | 11,000 | 60% 45881 | 10,000 64% € H:11,000
NU065 | 28HAI | 13000 | 53% 45881 | 12,300 55% |& H:13.300
S8 (RE) % [_NU0S0 | 28 HBI | 13,000 | 53% 45H@T | 12,300 55% | +:13,300
NU052 | 28H &I | 11,000 60% 45HBT | 10,000 64%
NU054 | 28H B[ | 11,000 60% 45HHT | 10,000 64%
NU0O56 | 28HAI | 14,000 |  49% 45881 | 13300 52% | %:14,400, H:15,300
NU060 | 28HAI | 15000 |  45% 4588 | 14,300 48% € H:16.300
NU062 | 28HAI | 15000 |  45% 4588 | 14,300 48% € H:16.300
HR(CHA)=FRiE W CHHE) % [_NU071 | 28HBI | 22700 | 62% 45H@T | 22,600 62% |&1:24.900
NU0O73 | 28HAI | 19.200 | 68% 45880 | 19.100 68% |€1:21,400
RiEH NUO70 | 28HAI | 19.200 | 68% 45881 | 19.100 68% | H:19,600
NUO78 | 28HHI | 24900 58% | H:27,300 45E B | 24,800 58% | H:27,200
RRCHA) =% RECHE)F | NU021 | 28HAT | 21,100 | 62% [£+:23,700 45HBT | 21,000 62% | €1:23,600
o R NU022 | 28HAI | 19500 | 65% | H:23,500 45H 81 | 19.400 65% | H:23,400
AR (B87E) =A1E A0k (BA7E) % | NU083 | 28H Al | 20,000 | 59% | %:23,000, £:21,000 45881 | 19,500 60% |%:22,500, £:20,500
RiEHE NU084 | 28HHI | 19.000 61% | H:23,000 45H 81 | 18500 62% | H:22,500
NS =FHE (B ER) INRFE NUO31 | 28HB[ | 21,000 49% £ 1:24,000 458 /il -— —
| | AEGBE)F| NU038 | 28HAT | 21,000 | 49% [ A H:24,000 588 | — p—
2 2 (P ER) = P (AR & 2 (PR $4_NU251 | 28E @I | 17,600 54% | £1:19.600 45HF1 | 17,100 56% |&1:19.100
NU253 | 28H B[ | 16,000 59% | £+:19.000 45HBT | 15,500 60% |£1:18,500
NU255 | 28E R | 14,400 63% 45HAT | 13,900 64%
NU257 | 28HHI | 12400 | 68% | H X&:12,200 45H@T | 11,900 69%
Shi® (FRER) F | _NU252 | 28H AT | 11,200 | 71% | A+ H:11,400 45H@T | 10,900 72%
NU254 | 28HHI | 15000 61% | H:17,500 45H 81 | 14,500 62% | H:17,000
NU256 | 28H B | 17,000 | 56% |%:17,500, £:15,000, B:19,500 | 45H&T 16,500 57% |%:17,000, £:14,500, B:19,000
NU258 | 28H B | 17,000 | 56% |%:17,500, £:15,000, B:19,500 | 45H&T 16,500 57% |%:17,000, £:14,500, B:19,000
FE Ll = b8 (R %) fie] 1L 5 NUO11 | 28HBEI | 18,400 46% £ +:21,400 45HR] | 17,400 49% | % +:20,400
;h#8 (BE) % | NU0I6 | 28HBT | 18400 |  46% | H:21,400 45H 81 | 17.400 49% | H:20,400
iR (BRE) =R1E 4B (ARER) % | NU601 | 28HEI | 7.600 67% 458R1 | 7,300 68%
NU603 | 28HBI | 7.600 67% 45HAT | 7.300 68%
NU605 | 28H R | 11,900 48% 45HAT | 11,500 50%
NU609 | 28HBI | 7.600 67% 4A5HAT | 7.300 68%
NU613 | 28HBI | 7.600 67% 4A5HAT | 7.300 68%
NU615 | 28HBI | 7.600 67% 4A5HAT | 7.300 68%
NU619 | 28HBI | 7.600 67% 45HAT | 7.300 68%
NU621 | 28HBI | 7.600 67% 4A5HAT | 7,300 68%
NU625 | 28HBI | 7.600 67% 45HAT | 7.300 68%
RiEH NU070 | 28HBI | 7.600 67% 45HAT | 7,300 68%
NU604 | 28HBI | 7.600 67% 45HAT | 7.300 68%
NU606 | 28HBI | 7.600 67% 45HAT | 7.300 68%
NU608 | 28HBI | 7.600 67% 45HHAT | 7.300 68%
NU612 | 28HBI | 7.600 67% 45HAT | 7.300 68%
NU614 | 28HBI | 7.600 67% 45HAT | 7,300 68%
NU618 | 28H Bl | 11,900 48% 45HFT | 11,500 50%
NU084 | 28H B[ | 11,900 48% 45HAT | 11,500 50%
NU622 | 28H &I | 11,900 48% 45HAT | 11,500 50%
NU078 | 28HBI | 11,900 48% 45HAT | 11,500 50%
NU626 | 28H I | 11,900 48% 45HAT | 11,500 50%
NU628 | 28HBI | 7.600 67% 45HAT | 7.300 68%
HEAB) == %8 (FRF) % [ _NUs51 | 28 AR | 3,100 82% 45887 | 3000 83%
RAC801 | 28HBI | 3,100 82% 45881 | 3000 83%
NU557 | 28HET | 3,100 82% 45881 | 3000 83%
NU559 | 28HET | 3,100 82% 45881 | 3000 83%
NU561 | 28H&T | 3,100 82% 45881 | 3000 83%
NU563 | 28HET | 3,100 82% 45881 | 3000 83%
NU567 | 28HET | 3,100 82% 45881 | 3000 83%
NU571 | 28HET | 3,100 82% 45881 | 3000 83%
NU573 | 28HET | 3,100 82% 45881 | 3000 83%
EEES NU552 | 28HET | 3,100 82% 45881 | 3000 83%
NU556 | 28H &1 | 3,100 82% 45881 | 3000 83%
NU558 | 28HET | 3,100 82% 45881 | 3000 83%
NU560 | 28H &1 | 3,100 82% 45881 | 3000 83%
NU562 | 28HET | 3,100 82% 45881 | 3000 83%
NU564 | 28HET | 3,100 82% 45881 | 3000 83%
NU568 | 28HET | 3,100 82% 45881 | 3000 83%
NU572 | 28HHET | 3,100 82% 45881 | 3000 83%
RAC804 | 28HBI | 3,100 82% 45881 | 3000 83%
Eh =R EEH RAC831 | 28HA1 | 8900 25% 45 /il — —
RAC833 | 28HAI | 8900 25% 458 /il — —
RAC837 | 28HAl | 8900 25% 458 /il — —
RiEH RAC832 | 28HH | 8,900 25% 458 /il — —
RAC834 | 28HAI | 8900 25% 458 /il — —
RAC838 | 28HAil | 8900 25% 458 /il — —
BB =AKRE | AR X | RACST1 | 28HHAT | 7.600 36% 45H & — —
RAC873 | 28HRiI | 7,600 36% 458 /il — —
RAC875 | 28HRl | 7,600 36% 458 /il — —
RAC877 | 28HRI | 7,600 36% 458 /il — —
RAC879 | 28HRI | 7,600 36% 458 /il — —
RAC881 | 28HRI | 7,600 36% 458 /il — —
AKEFE RAC872 | 28H4RI | 7,600 36% 458 /il — —
RAC874 | 28HRI | 7,600 36% 458 /il — —
RAC876 | 28HRI | 7,600 36% 458 /il — —
RAC878 | 28HRil | 7,600 36% 458 /il — —
RAC870 | 28HFRil | 7,600 36% 458 /il — —
RAC882 | 28HRI | 7,600 36% 45 /il — —
R (B =5k SE8 (IRER) % [ RAC815 | 28HEI | 10,800 24% 458 /il — —
| 5w RAC816 | 28H@l | 10,800 | 24% 588 | — p—
HREGRE) =|EKXS | (RER) F | RAC853 | 28HAT | 17,600 24% 458 /il — —
HTEKREH | RAC854 | 28HBI | 17,600 24% 458 /il — —
BAER=1XR BAEH | RAC835 | 28HAT | 6,600 20% | K IK KB 45881 J— p—
AFEH RAC836 | 28HRI | 6,600 20% A& 1 BHEfH 45 Bl — —
B (RH) =5HE [SPE R %K | RAC889 | 28HHT | 19600 | 38% | kK2 H.EM 458 Al — e
53ES [ RACS80 | 28HBT | 19600 | 38% | NJk.£.H B 458 8] -— —
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e B2 IR Tanm BEE oy 6 apm | BEE e,
BEAMAR | T #5i% " BAMIR | T 5% "
BRCHA) =348 (F) | 48 F H | NU070 | 28HBI | 19,800 | 51% 45881 | 19,400 52%
NU078 | 28HBI | 20,300 | 50% | +:20,200, H:23,300 45881 | 19,500 52% | +:19,400, H:22,500
KBz (B ) #8(FB%) | B (GIRE) S | NU0s4 | 28HFT | 19,000 44% H:20,000 45HBI_| 16,300 52% | H:17,300
[T E) FEES NUO51 | 28H®I | 17,000 | 38% | H:16,000 458 E1_|_ 16,300 41% | H:15,300
NU053 | 28H B[ | 16,000 42% |££:17,000 45HF1 | 15300 44% | £+:16,300
NU057 | 28H &I | 12,000 56% 45HF1 | 11,000 60%
NU061 | 28HB[ | 12,000 56% 45HF1 | 11,000 60%
NU063 | 28H B[ | 12,000 56% 45HF1 | 11,000 60%
NU065 | 28H B | 14,000 49% 45HF1 | 13,700 50%
%8 (GRE) % [ _NU0S0 | 28 HBI | 14,000 | 49% 45881 | 13,700 50%
NU052 | 28H B[ | 12,000 56% 45HF1 | 11,000 60%
NU054 | 28H B[ | 12,000 56% 45HF1 | 11,000 60%
NU056 | 28H B[ | 15,000 45% 45HF1 | 14,300 48%
NU060 | 28H B[ | 16,000 42% 45HF1 | 15300 44%
NU062 | 28H B[ | 16,000 42% 45HF1 | 15300 44%
HR(CHA)=F/iE B CHE) % [_NU071 | 28HBI | 26,900 55% 45881 | 26,800 55%
NU073 | 28HBiI | 23700 | 60% | % 1:26,000 45HF1 | 23,600 60%
RiEH NU070 | 28HEI | 23,300 61% 45HF1 | 23,200 61%
NUO78 | 28HHI | 28200 52% | H:30,600 45H BT | 28,100 53% | H:30,500
RRCHA) =% RECHE)F | NU021 | 28HAT | 24600 | 56% |£1:26,200 45HF1 | 24,500 56% @ 1:26,100
EoR NU022 | 28HHI | 22,800 59% | H:27,000 45H BT | 22,700 59% | H:26,900
AR (B87E) =A1E ABx (BS7E) % | NU083 | 28HBI | 22,000 | 55% |%:25,000, £:23,000 45881 | 21,500 56% | =:24,500, 1:22,500
RiEHE NU084 | 28H®I | 21,000 | 57% | H:25,000 45H BT | 20,500 58% | H:24,500
NS =48 (B ER) INRFE NUO31 | 28HB[ | 23,000 44% £ £:26,000 45881 — -—
| | AEGB®M)F| NU038 | 28HAT | 23000 | 44% | A H:26,000 5EE | —— p—
2 R (P ER) = P (A ER)[R & 2 (PR $4_NU251 | 28EEI | 21,600 44% :23,600 45HF1 | 21,100 45% :23,100
NU253 | 28H@T | 20,000 | 48% :23,000 45881 | 19,500 49%
NU255 | 28H@T | 19.100 | 51% :18,400 45881 | 18,300 53%
NU257 | 28HBBI | 17,100 | 56% 16,900, £:16,200, 1:16,400 | 45HAI | 16,400 58% :
ShiE (R F | _NU252 | 28H AT | 15900 | 59% | AH:16,100, +:15,400 45881 | 15,400 60% | 1:14.900
NU254 | 28H®I | 19.000 51% | H:21,500 45H BT | 18,500 52% | H:21,000
NU256 | 28E B | 21,000 | 46% :21,500, £:19,000, H:23,500 45881 20,500 47% 21,000, +:18,500, H:23,000
NU258 | 28H B | 21,000 | 46% :21,500, £:19,000, H:23,500 45881 20,500 47% 21,000, +:18,500, H:23,000
FE Ll = ;b8 (R %) FiE] L 56 NUOT1 | 28HBiI | 20,400 | 40% % +:23,400 458 F1_|_ 19,400 43% +:22.400
;h#8 (RE) % | NUO0I6 | 28HBT | 20400 | 40% | H:23400 45H BT | 19,400 43% | H:22,400
hiE () ="l %8 (GRE) % [_NU601 | 28 AT | 8,600 63% 45871 | 8300 64%
NU603 | 28HBI | 8,600 63% 45HH1 | 8.300 64%
NU605 | 28H Rl | 12,900 44% 45HF1 | 12,500 46%
NU609 | 28H Bl | 8,600 63% 45HH1 | 8.300 64%
NU613 | 28HBI | 8,600 63% 45HF1 | 8.300 64%
NU615 | 28H Bl | 8,600 63% 45HH1 | 8.300 64%
NU619 | 28H Bl | 8,600 63% 45HH1 | 8.300 64%
NU621 | 28HB] | 8,600 63% 45HHT | 8.300 64%
NU625 | 28HBI | 8,600 63% 45HHT | 8.300 64%
RiEH NU070 | 28HBI | 8,600 63% 45HHT | 8.300 64%
NU604 | 28H Bl | 8,600 63% 45HF1 | 8.300 64%
NU606 | 28H Bl | 8,600 63% 45HH1 | 8.300 64%
NU608 | 28H Bl | 8,600 63% 45HF1 | 8.300 64%
NU612 | 28H Bl | 8,600 63% 45HH1 | 8.300 64%
NU614 | 28HBI | 8,600 63% 45HH1 | 8.300 64%
NU618 | 28H B[ | 12,900 44% 45HF1 | 12,500 46%
NU084 | 28H B[ | 12,900 44% 45HH1 | 12,500 46%
NU622 | 28H B[ | 12,900 44% 45HF1 | 12,500 46%
NU078 | 28H B[ | 12,900 44% 45HF1 | 12,500 46%
NU626 | 28H B[ | 12,900 44% 45HF1 | 12,500 46%
NU628 | 28HBI | 8,600 63% 45HH1 | 8.300 64%
HEAB) == %8 (FRF) % [ _NUs51 | 28HRAT | 3,100 82% 45881 [ 3000 83%
RAC801 | 28HBI | 3,100 82% 45881 | 3000 83%
NU557 | 28HET | 3,100 82% 45881 | 3000 83%
NU559 | 28HET | 3,100 82% 45881 | 3000 83%
NU561 | 28HHT | 3,100 82% 45881 | 3000 83%
NU563 | 28HET | 3.100 82% 45881 | 3000 83%
NU567 | 28H@T | 3.100 82% 45881 | 3000 83%
NU571 | 28HHET | 3.100 82% 45881 | 3000 83%
NU573 | 28HHET | 3.100 82% 45881 | 3000 83%
EEES NU552 | 28HET | 3,100 82% 45881 | 3000 83%
NU556 | 28H @1 | 3,100 82% 45881 | 3000 83%
NU558 | 28HET | 3,100 82% 45881 | 3000 83%
NU560 | 28H@T | 3.100 82% 45881 | 3000 83%
NU562 | 28HET | 3.100 82% 45881 | 3000 83%
NU564 | 28HHT | 3.100 82% 45881 | 3000 83%
NU568 | 28HET | 3.100 82% 45881 | 3000 83%
NU572 | 28HHT | 3,100 82% 45881 | 3000 83%
RAC804 | 28HBI | 3,100 82% 45881 | 3000 83%
Eh=fia B RAC831 | 28HBI | 8,900 25% 45H A — —
RAC833 | 28HBI | 8,900 25% 45H A — —
RAC837 | 28HBI | 8,900 25% 45H A — —
RiEH RAC832 | 28HBI | 8,900 25% 45H A — —
RAC834 | 28HBI | 8,900 25% 45H A — —
RAC838 | 28HBI | 8,900 25% 45H A — —
BB =ARS | HAE R F | RAC8TI | 28HHAT | 7.600 36% 45H A — —
RAC873 | 28HBI | 7,600 36% 45H A — —
RAC875 | 28HBI | 7,600 36% 45 A — —
RAC877 | 28HBI | 7,600 36% 45H A — —
RAC879 | 28HBI | 7,600 36% 45H A — —
RAC881 | 28HBI | 7,600 36% 45 A — —
AKXE%* [ RAC872 | 28HHI | 7.600 36% 45H A — —
RAC874 | 28HBI | 7,600 36% 45H A — —
RAC876 | 28HBI | 7,600 36% 45H A — —
RAC878 | 28HBI | 7,600 36% 45H A — —
RAC870 | 28HBI | 7,600 36% 45 A — —
RAC882 | 28HBI | 7,600 36% 45H A — —
(BB =5k Sh#E (FR%) % | RAC815 | 28H |1 | 10,800 | 24% 45 A — —
| SW% RAC816 | 28HA] | 10,800 | 24% 5EE | —— p—
RS ='EXS | GRE) F | RAC853 | 28HET | 17,600 24% 45881 — —
TEAESH | RAC854 | 28HBI | 17,600 | 24% 45H A — —
BAER=1XE BA®EH% | RAC835 | 28HAT | 6,600 20% 45 BB j— p—
EAEH RAC836 | 28HHI | 6,600 20% 45881 — —
R (8 =5 E HE (IR%R) 3 [ RAC889 | 28HEI | 19,600 38% 45881 — —
5MES [ RACS80 | 28HBT | 19.600  38% 45 B — -—




o A=A
[R—NN—% B IEEXR(6A1B~308EFES) JTA/RAC
EEEAR 2012/3/31 _ ~
6/1-1 6/8-30
XA Be |l B ‘ B
BEAHAMR [EE%E 4n) o & BEEE o e
2|51% Z|51%
RRCPR) =44 () | HEFFH)F | _NUo70 | 55877 |12,800] 69% 17,300 | 58%
NU078 | 55HAT [13,900] 66% |H:18,500 18,400 | 55% | H:21,500
KBx (BR) =442 GRZR) | ;4B (BR&m) FK [ Nuos4 [ 55HH]T [ 12,800 63% |[H:13,800 14,800 | 57% |H:15,800
18R = b8 (A F) FeEES NUO051 | 55HAT [14,500] 47% [H:13,600 15500 | 44% [H:14,600
NU053 | 55H&T | 13,600 51% |&+:14,500 14,600 |  47% £ 1:15,500
NU057 | 55HR I | 9,700 | 65% 10,700 | 61%
NU061 | 55HRI | 9,700 | 65% 10,700 | 61%
NU063 | 55HAT | 9,700 [ 65% £ H:10,500 10,700 |  61% |£H:11,500
NU065 | 55H&I | 11,700 57% |& H:12,600 13,100 | 52% £ H:13,600
#E8 (ARER) F | _NUo50 | 55HRT | 11,700 57% #+:12,600 13,100 |  52% [ +:13,600
NU052 | 55HRI | 9,700 | 65% 10,700 | 61%
NU054 | 55HI | 9,700 | 65% 10,700 | 61%
NU056 | 55H&I | 12,600 54% |%:13,700. H:14,500 13,600 | 51% |£:14,700. BH:15,500
NUO060 | 55H&T | 13,600 51% |& H:15,500 14,600 |  47% £ H:16,500
NU062 | 55H&I | 13,600 51% |& H:15,500 14,600 |  47% £ H:16,500
HRECHE)=H"i8 BRECHE)F | NU071 | 55HAT | 22500 62% % +:24,800 26,700 | 55% |4 1:30,800
NU073 | 55H&T [ 19,000 68% |&+:21,300 23,500 [ 60% | +£:25,800
RiE% NU070 | 55H®T [ 19,000 68% | H:19,500 23,100 61%
NU078 | 55HAT [24,700] 58% [H:27,100 28,000 | 53% |H:30,400
RR(PH) =E#H BEECHE)F | NU021 | 55HAI1 [20,900 62% % 1:23,500 24,400 [ 56% | 1:26,000
B NU022 | 55H®7 | 19,300 65% |H:23,300 22,600 | 59% | H:26,800
KB (B8dE) =F18 ABx (B87E)F | NU083 | 55HRI | 18,600 62% |£:21,400, £:19,500 20,600 | 57% |£:23,400, 1:21,500
iE % NU084 | 55HAT [17,600] 64% |H:21,400 19,600 | 60% | H:23,400
22 (hE) =2 HmH = (PE)F NU251 | 55881 [16,200 58% & 1:18,100 20200 | 48% £ +£:22,100
NU253 | 55H&T | 14,700 62% |&+:17,600 18,700 | 52% £ 1:21,600
NU255 | 55HRI | 11,800 69% 16,200 | 58% |£1:15,800
NU257 | 55HRI | 9.800 | 75% 14,300 | 63% |£1:13,800
B (FRE) F [ Nu252 [ 5587 | 8,800 | 77% 13,300 | 66% |+:12,800
NU254 | 55HAT [13,800] 64% |H:16,200 17,800 | 54% | H:20,200
NU256 | 55H&T [15.700] 59% [£:16,200. £:13,800, H:18,100 [ 19,700 | 49% |£::20,200. £:17,800. H:22,100
NU258 | 55HAT [15.700] 59% [£:16,200. £:13,800, H:18,100 [ 19,700 | 49% |£::20,200. F:17,800. H:22,100
g (BN E) =R 18 h#E (ARER) 5 | NU601 | 55HAT | 7,200 | 69% 8,200 64%
NU603 | 55HRI | 7,200 | 69% 8,200 64%
NU605 | 55HI |10,900 53% 11,900 | 48%
NU609 | 55HRI | 7,200 | 69% 8,200 64%
NU613 | 55HRI | 7,200 | 69% 8,200 64%
NU615 | 55HRI | 7,200 | 69% 8,200 64%
NU619 | 55HRI | 7,200 | 69% 8,200 64%
NU621 | 55HRI | 7,200 | 69% 8,200 64%
NU625 | 55HI | 7,200 | 69% 8,200 64%
A% NU070 | 55H&T | 7.200 | 69% 8,200 64%
NU604 | 55HRI | 7,200 | 69% 8,200 64%
NU606 | 55HI | 7,200 | 69% 8,200 64%
NU608 | 55HI | 7,200 | 69% 8,200 64%
NU612 | 55HRI | 7,200 | 69% 8,200 64%
NU614 | 55HRI | 7,200 | 69% 8,200 64%
NU618 | 55HRI [10,900 53% 11,900 | 48%
NU084 | 55HRI [10,900 53% 11,900 | 48%
NU622 | 55HRI [10,900 53% 11,900 | 48%
NU078 | 55HRI [10,900 53% 11,900 | 48%
NU626 | 55HRI | 10,900 53% 11,900 | 48%
NU628 | 55HRI | 7,200 | 69% 8,200 64%
SRR =2 sh#8 (FE;) F= | NUS51 | 55HRT | 2,900 | 83% 2,900 83%
RAC801 | 55881 [ 2,900 [ 83% 2,900 83%
NU557 | 55H&T | 2.900 | 83% 2,900 83%
NU559 | 55H&T | 2,900 | 83% 2,900 83%
NU561 | 55H&T | 2,900 | 83% 2,900 83%
NU563 | 55H&T | 2,900 | 83% 2,900 83%
NU567 | 55H&T | 2,900 | 83% 2,900 83%
NU571 | 55H&T [ 2.900 | 83% 2,900 83%
NU573 | 55H&T | 2.900 | 83% 2,900 83%
EEH NU552 | 55881 | 2,900 | 83% 2,900 83%
NU556 | 55H&T | 2,900 | 83% 2,900 83%
NU558 | 55H&T | 2,900 | 83% 2,900 83%
NU560 | 55H&T | 2,900 | 83% 2,900 83%
NU562 | 55H&T | 2,900 | 83% 2,900 83%
NU564 | 55H&T | 2,900 | 83% 2,900 83%
NU568 | 55HAT | 2,900 | 83% 2,900 83%
NU572 | 55H&T [ 2.900 | 83% 2,900 83%
RAC804 | 55881 | 2,900 | 83% 2.900 83%




[T 7 EEER(6HA1H~30HEFES) JAL/JITAAC/RAC

EEEAH 2012/3/31 _~
=1 — A e
X Ex3=:5: 1) HERH 6/1-30 iﬁh;;ﬁ Bz
XD | XE@ -
RRECHA)=Ed [EECHA)F[+ & FRFH) |JAL/JTA|JTA/RAC| 35,100 40%
EhmR |8 @E) |[JTA/RAC[JAL/JTA] 35,100 40%
RRCHA)=RAE [ERCHR) R #EGREH) |JAL/JTA|  JTA 36,300 43%
AEX  [HE@BF)| JTA [JUAL/JTA] 36,300 43%
KR (FE) =8=d [ KRUFFH FH|H#EAREE)| JAL  [JTA/RAC| 31,600 39%
TEaH | HEGE) |[JTA/RAC]  JUAL 31,600 39%
KR (BEFR) ==d | KBz (B878) F| ;P48 (A%R) [JAL/JTA[JTA/RAC| 31,600 39%
EhmR |G E) |[JTA/RAC[JAL/JTA] 31,600 39%
Kk (FFH) =R1E | KR GEFD |+ (385)|  JAL JTA 36,100 37%
AEFE  |HEGE) | JTA JAL 36,100 37%
K (Bf8) =A1E | KBr (B |44 (Ai5) [JAL/JTA|  JTA 36,100 37%
AEX  [HE@BF)| JTA [JUAL/JTA] 36,100 37%
L E (R ==h|2aaE G &P G&E)| JTA |JTA/RAC| 33,400 40%
=ax | HEGE) |[JTA/RAC] JTA 33,400 40%
Z2HE(PE) =FRIEBE|4EE M X FEGRHE)| JTA JTA 36,200 41%
AiIEH  EGRE)| JTA JTA 36,200 41%
FIR (T30 =8 (B |ALIR (TR & EEE CHHE)|[  JAL  |JAL/JTA[ 41,000 45%
KB (B8#8)| JAL |JAL/JTA| 41,000 46Y%
ZHE(RE)|  JAL JTA 41,000 46%
12 JAL JTA 41,000 48%
iR (IRER) | R CFIH) [JAL/JTA|  JAL 41,000 45Y%
KBx (B8#) [JAL/JTA|  JAL 41,000 46Y%
12 JTA JAL 41,000 48%
EE==0 EEFE P GRE)| JTA |[JUTA/RAC| 25,000 44%
=& hfE (BRER) |UTA/RAC]  JTA 25,000 44%
B =xai8 EEE P EREH)| JTA JTA 34,900 31%
RiEX  |HEEGEER)| JTA JTA 34,900 31%
IMA=FTH IE R GRE)| JTA |JUTA/RAC| 31,300 46Y%
=& hfE (BRER) |UTA/RAC]  JTA 31,300 46%
IMNA=FR1E IMAE R GRER) [ JTA JTA 36,300 43%
RiEX  |HEGEER)| JTA JTA 36,300 43%
HlU==14 EILE  [HEGRE)| JTA [JUTA/RAC| 27,200 47%
=& hfE (BRER) |UTA/RAC]  JTA 27,200 47%
m=x"1iE FLE [ GREH)| JTA JTA 37,000 35%
RIEF GRS JTA JTA 37,000 35%
HEANS) =8F PER5) H|FEFECHE) [JAL/JTA|  JAL 37,200 48%
EHZE  [EE@EHE)| JAL  [JAL/JTA| 37,200 48%
HEEARE) == 4 (BR8) | EFE CHE) [JAL/JTA|  JAL 37,200 47%
=R%FE |EECEHE)| JAL |JAL/JTA| 37,200 47%
HEE AR =fE [ (ARER) | EE CHE) [JAL/JTA|  JAL 36,000 45%
MEX |[ERCHA)| JAL [JAL/JTA| 36,000 45%
HEEARE) =L (iR (RER) | EE CHE) [JAL/JTA|  JAL 36,000 39%
Wz [EmEIAE)] JAL  [JAL/JTA] 36,000 39%
R (R =LE PR GRE) E| 3 JTA JAL 38,900 45Y%
=3 12 JAL JTA 38,900 45%
HEE(ARER) =/MA 4R (BRER) R | E CHHE) [JAL/JTA|  JAL 34,900 44%
MRFE  |ERECHE)| JAL  |JAL/JTA| 34,900 44%
HEAS =5 PEMMES)FE|  EM JTA [JAL/JAC|] 25,200 51%
= E1F faf  [JAL/JUAC| JTA 25,200 51%
PR (ERER) =L PR (RER) E| tEM JTA JAC 24,000 50%
NI, 12 JAC JTA 24,000 50%




[E#ESI28 EER(6A1A~30ARES) JAL/JTA/IAG/RAC
EEBEHA 2012/3/31 ~
= o =1 =
P I I0) RERH 6/, fh;% e 6/8-6/30 fh;% =
REO® | REQ " "
RER(PHE)=2d Rz CHE) | H4# IR#) [JAL/JTA[JTA/RAC| 18,600 | 68% |H:19,800 22,700 61%
Eos |4 GRE) [JTA/RAC|JAL/JTA| 18,600 | 68% 22,700 61%
BRCHAE) =F1E [Zx(F8) X8 Gi%) [JAL/JTA] JTA [ 23100 | 64% |H:24,300 26,700 58% |%:28,600, 1:28,400, H:28,300
AiEH  [HEGRE)|[ JTA [JAL/JTA| 23,100 | 64% |+t:22,300 27,600 57% | H:28,200
KR (R =2d [XRUFMH|F#EGHE | JAL [JTA/RAC| 17,900 | 65% 19,900 62%
Em% |48 GREH) [JTA/RAC]  JAL 19,900 | 62% |H:20,900 21,900 58% | H:22,900
KBr (BTE) == [ KMk (B8 % | 448 (ARE) [JAL/JTA[JTA/RAC| 17,900  65% 19,900 62%
Eo |4 (JRE) [JTA/RAC|JAL/JTA] 19,900 [ 62% [H:20,900 21,900 58% | H:22,900
KR (FFH =818 [XRUFH | HE8GRHE) [ JAL JTA 21,500 | 62% & 1:22,400 23,900 58% & 1:25,400
RIEF [T JTA JAL 24,400 | 57% |H:25,400 27,400 52% | H:28,400
KR (BTE) =R | XBR(BE7R) %548 GRE) [JAL/JTA] JTA 21,500 | 62% & +:22,400 23,900 58% & 1:25,400
AiEH [#EGRE)| JTA |JAL/JTA| 24400 @ 57% H:25400 27,400 52% | H:28,400
Z2HE(PEH) =2H|aaBEH R PEFEBFH) | JTA |JTA/RAC| 15300 | 73% |H XK<£:15,100 20,000 64% | A :k:19,800, %:19,100, £:19,300
Eo% [ AEGRH) [JTA/RAC] JTA | 14,100 | 75% H:14,300 18,800 66% |AH:19,000. £:18,300
ZHE(PE) =R |2aE(R8 x| 74E (88 | JTA JTA | 19,600 [ 68% H:19,800 25,300 59% | A H:25,500, £:24,600, £:24,800
AiEH [HEGRH) | JTA JTA | 18600 | 70% |A+ H:18,800 24,300 61% | A H:24,500, 1:23,800
AR E TR =R BB [ARFTRHR[ER(FHE) | JAL [JAL/JTA[ 26,200 | 65% |%:30,000, £:26,400, H:29,100 29,000 61% |%:33,000, 1:28,800, H:32,700
A0k (BAF)| JAL [JAL/JTA[ 25000 | 67% |H:25800 27,400 64% | H:28,200
2EECHE)|  JAL JTA | 27,100 | 64% |H:28,700 30,900 59% |4 1£:30,300. H:32,500
126 JAL JTA | 24,300 [ 69% £:25,100. H:26,400 25,100 68% |%:25,900, H:27,200
hiB (IRER) | R CHHE) [JAL/JTA|  JAL 27,600 63% | A:28,400, #:30,100, 1:27,800, H:29,800( 30,000 60% | A:30,800, £:32,500, 1:32,200. H:32,400)
ABR (B878) [JAL/JTA| JAL | 27,400 | 64% |%:28,200. H:29,000 29,800 61% |%:30,600, H:31,400
12 [l JTA JAL | 25900 [ 67% & 1:27.400 26,700 66% | 1:28,200
EE==0 fEE%E  [F@EGEREH | JTA [JTA/RAC| 13900 | 69% 14,900 | 67%
08 GRE) [UTA/RAC|  JTA [ 13,900 | 69% 14,900 67%
BRE=aiE HEEGRE) | JTA JTA 18,400 | 64% 20,400 60%
HEEGRE) | JTA JTA 18,400 | 64% 20,400 60%
IMR=EH P (BE) | JTA  [JTA/RAC| 23,900 | 59% |4 +:26,900 25,900 56% | +:28,900
SRR (GIRER) [JTA/RAC|  JTA 22,100 | 62% | A H:24,500 24,500 58% | A H:26,900
INA=F1E HEEGRE) | JTA JTA 23,100 | 64% & +:25500 25,500 60% & +:27,900
HEEGRE) | JTA JTA 23,100 | 64% |A H:25,500 25,500 60% | A H:27,900
EL==%& P (RE) | JTA  [JTA/RAC| 20,000 | 61% |4 +:22,400 22,400 57% | +:24,800
b8 GRE) [UTA/RAC|  JTA [ 21,300 | 59% |H:24,300 23,300 55% | H:26,300
EIL=R1iE HEEGRE) | JTA JTA 21,000 | 63% |4 +:23400 23,400 59% % +:25,800
GRS | JTA JTA 21,000 | 63% |H:23,400 23,400 59% |H:25,800
B =FF R CFIA) [JAL/JTA| JAL | 29,300 | 59% 28,400, H:30,000 31,700 | 55% | 1:30,800. H:34,100
HRCPAE)| JAL  |[JAL/JTA[ 27,200 62% 30,000 30,800 57% | F:29,600. £:34,400, :29,800. H:30,100)
s (AR ==iR RERCHEA) [JAL/JTA] JAL | 27,300 | 61% 29,700 29,700 58% |H:32,100
BmCHA) | JAL [JAL/JTA[ 25200 | 64% 29,400, B:27,400 28,800 59% |%:32,400. H:31,000
P (AR ER) =fE BHECHA) [JAL/JTA]  JAL 25200 | 61% 24,300, H:28,400 27,600 58% 7,500, H:30,800
BmCHA) | JAL [JAL/JTA[ 24,700 | 62% 28,900, 1:25,700. H:25,600 27,500 58% |%:31,900, F:28,100, H:29,200
P (AR ER) =1Lk RRCHE) [JAL/JTA] JAL [ 23,800 | 60% |+ H:24,400 27,500 53%
BEmCHA)| JAL [JAL/JTA[ 23800 | 60% |H:24.900 27,900 53% | H:29,000
SRE(ARER) =LE [hEGRB K| &M JTA JAL | 26,000 | 63% | 1:26,800 26,800 62% | +:27,600
=3 12 [l JAL JTA | 24,900 [ 65% H:25,200 25,700 64% H:26,000
JRAE (FRER) = /M0 [P (B % | RIR CRH) [JAL/JTA|  JAL 25500 | 59% 24,600, H:29,500 27,900 56% 7,000, H:31,900
AFE  [ERECAME)| JAL [JAL/JTA| 24,200 | 61% 28,700, 1:24,400, H:26,300 27,800 56% :32,200, H:29,900
B (ARER) =240 [RBGRB S| &M JTA [JAL/JAC| 24,700 | 52% 24,700 52%
=Pk 8 [JAL/JAC| JTA | 24,700 | 52% 24,700 52%
SRER(INER) =fML MEB |  BE JTA JAC | 23500 [ 51% 23,500 51%
[NITES 1= JAC JTA 23,500 | 51% 23,500 51%




